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QUESTION 1

1.1 2;7:14; 23; 34 ;..

Fifth term is 34 AV 34 (1)

1.2 T =an’+bn+c
2a=2

a=1 Av a=1
5=3a+b
5=30)+b
2=b CAvb=2
2=1+2+cC
c=-1 CAvc=-1
T =n’+2n-1 CAV answer (4)

1.3 First difference 5;7;9;11;....
T,=2n+3 Av'2n+3
57=2n+3 CAv'equating to 57
54 =2n
27=n

Between T,, and T, CAV'T,, and T, 3)

% [8]
=
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QUESTION 2

211 10:a;24:b:38:......

38-b=b-24
62=2b
31=b

OR

24+10
a= =
2

17

24438
2

b 31

Av'equating

Avequating (2)

OR

AV answer

v
Av answer @)

2.1.2 a=10
d=7

s, =%[2a+(n—1)d]

67
Ser :7[2(10) +(67-1)7]

S,, =16147

OR

5, =3 (a+1)

n

s, =6—27(10+472)

S,, =16147

Av'substituting

CAVY answer (2)

bstituting

CAVY answer

)
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2.1.3 10;24:38:52:66:......ccocevveeeenn.
a=10

d=14
n=34 gﬁ«'}f
s, —2[%n—1)d]
34
S., =7[2(10)+(34—1)14]

S,, =8194

Av'sequence

CAV sub into formu

CAVY answer
S, =—(a+l)
2 CAV'sub into formu
S, = ?(10+4?2) AV 472
S, —8194 CAVvanswer (3)
2.2 -
For : 23.21"r a=§ r =1
= 2
Swzizizg AY'S, =3
1-r 1-0,5
12
For >'3.2"" a =% r= 1 n=11
r=2
AvV'S,, =2,999
1,5(1-(0,5)")
= =2,999
1-0,5
S.3+4+2,999 =5,999
CAV answer (3)
[10]
Joa7
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QUESTION 3
3.1
3.1.1 r=x-2 AV (1)
3.1.2 —1<X ;@ AV
l<x< CAY answer (2)
3.2 a+ar+ar?+ar®=8400
ar’ =27a Av forming equation
r=3 AY ar®=27a
a+3a+9a+27a=8400 CAYV value of r
40a =8400
a=210
R210; R630; R1890; R5670 CAVY answer 4)
[7]
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QUESTION 4

4.1 AV i
g v equating
2=x"—X
0=x°—X
0=(x—2)(x+1) CAV factors
X=2or-1 CAV x values

CAV'y values 4)

4.2 Av'shape of f
Av’slope of ¢

CAVY'label points of (3)
intersection

4.3 Xx<-1 CAvV x<-1
or
O<x<?2 CAv 0<x

CAY X <2 % 3)
NN~

4.4 | Translation 3units to the left and 4 units down. AV 3units Ie@
(2)

Av 4 units d
[12]
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QUESTION 5
51 | |, _1 AV (1)
5.2 m_—_3 AY (1)
:
5.3 y:a(
y = a[ Av’'sub X - intercepts
6=a[ Av'sub (0; 6)
6=-3a
y=—2{x+§J(x—2)
2
1
=-2| x*-=x-3
! [ 2 J
y=-2X"+X+6
2
y:_z[l) +1+5=@ Av'sub x=1
4) 4 8 4
49
HZE
CAv'value for n (5)
[7]
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QUESTION 6
A1
6 27 _ g3 Av'sub (3;3§)
8 8
3 % —-a CAV cube root
3_
2 a )
6.2 xeR AV (1)
6.3 A
Av'shape
Av'point
Av'x-intercept
0
| ®3)
6.4 ( 3]3* Av'swapping X
X=|—
2 and y
coordinates.
g(x) =log; x AV answer (2)
2
6.5 . [ o 33) CAY answer
el U,o—
8 (1)
NNn
[]
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QUESTION 7
7.1
7.1.1 ) t2 y
tan 40" = * Av  diagram
1 50°
2 2
i I—l«/lt: A VI-t
t X t
)
7.1.2 | cos? 130°
= (—cos 50°)? AvY" —cos 50°
2 2
1-t° Y
_ [x/ } A [,/1 t J
1 1
:1—t2 CAvY 1_1:2 (3)
7.1.3 | cos 220°
= cos (180° + 40°) AV’ cos (180° + 40°)
= _cos 40° Av" —cos 40°
= CAvV —t ?)
7.2 sin 237° cos 1470 _ C°8 213°. cos 303
tan 237° -
o o —sin
= (-sin 57°) . (—cos 33°) — (- cos 33°) (cos 57°) Av" —cos 33°
tan 57°
— cin£70 «in 70 4 SN 57°. cos 57° Av" —cos 33°
sin 57°.sin 57° + — T Av' COs 57°
=sin 57°.5sin 57° + sin 57°. cos 57° . C?S ST Av' tan 57°
sin 57°
=sin?57° + cos? 57° A sin?57° + cos? 57°
o L
& ]
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QUESTION 8
8.1 _1-cos 2x —sin X
tanx = ——
SIN=2% — COS X
RHg = T 72082X — sin X AV 1-2sin?x
X — Cos X AY' 2sinx cos X
_ 1-(12sin? x) - sin x
~ 2siNXCOS X — COSX AV’ simplification

2sin® x —sin x
cos x (2sinx —1)

_ sin x (2sinx—1)

AV

(2 sin x—1) cos x

COS X QS‘"’”":IT Av' denominator and numerator
=tan x
= LHS (5)
8.2 Undefined if: sin2x—-cosx = 0 Av =0
2sinx cosx — cosx =0 Av" 2 sin X cos X
cosx(25|nx—1).:O Av COSX=0
s.cosx=0 or sinx= % )
AY sinx= %
. X=90°+k.360°0r x=30°+k.360%keZ
OR
x=270°+ k.360° or x=30°+k.360°; keZ
OR
Xx=270°+k.360° or x=150°+k.360°;keZ
.. not defined if x = 0°; 30°; 90° ; 150° ; 180°; 270° | AVAY'Av' (1 mark for any 2
correct values) ()
[12]
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QUESTION 9
9.1 a=2 Av a=2
b = —45° AvY b =-45° (2)
9.2 Period : 360° AV’ 360° (1)
9.3 C (-135° =% Av -135° v -1 (2)
9.4 | D(0°;0,707) Av 0,707
E (180° ; —0,707) Av 0,707 )
9.5 0° < x<165° ; x # 45° AvY’ correct notation
Av" correct end values
v X # 45° (3)
[10]
QUESTION 10
10.1 | In ARQS: Area ARQS= 1SQ.RQsiny Av arearule
_ . AV ituti
= laRQsiny substitution
. RQ = 28 AY RQ
asiny
In APQR: tan x = PQ Av PQ
QR OR
. PQ=QRtanx Av OR tan x
_ 2A . tanx
asiny (5)
10.2 PO = 2A . tanx
Q= asiny fAv’ rrllaking A subject of
. ormula
oA = PQasiny
tan X
_ PQa.siny
2 tan x Av" substitutévalues
_ 77m . 89m sin 115°
2 tan 46,5°
_77m.89m (0,906)
2 (1,054) Av' 0,906
= 2945,36 m? Av 1,054 (5)
CAY answer
[10]
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